

		AUSTIN					cos	T OF ATTENDA	NCE								
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH F	ARENT	
		DIRECT COSTS (CH	IARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARGE	D TO STUDEN	IT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	22,100.00	\$0.00	\$0.00	22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	18,450.00	\$0.00	\$0.00	18,450.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$35,532.00	\$4,581.00	\$5,067.00	\$2,871.00	\$30,969.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	18,450.00	\$0.00	\$0.00	18,450.00	12	\$12,192.00	\$6,756.00	\$3,828.00	\$41,226.00	\$6,108.00	\$6,756.00	\$3,828.00	\$35,142.00
Business Administration	18,450.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$35,532.00	\$4,581.00	\$5,067.00	\$2,871.00	\$30,969.00							
Business Administration	Iministration Diploma / 48 Evening 800 \$23.06 18,450.00 \$0.00 \$0.00 18,450										\$6,756.00	\$3,828.00	\$41,226.00	\$6,108.00	\$6,756.00	\$3,828.00	\$35,142.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	5,230.00	\$200.00*	\$70.00	5,500.00	4	\$4,064.00	\$2,252.00	\$1,276.00	\$13,092.00	\$2,036.00	\$2,252.00	\$1,276.00	\$11,064.00
Computer Support Specialist	Diploma / 27	Online	720	\$19.38	13,950.00	\$0.00	\$0.00	13,950.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$31,032.00	\$4,581.00	\$5,067.00	\$2,871.00	\$26,469.00
Cyber Security	Diploma / 33	Online	700	\$22.57	15,800.00	\$0.00	\$0.00	15,800.00	9	\$9,144.00	\$0.00	\$2,871.00	\$27,815.00	\$4,581.00	\$0.00	\$2,871.00	\$23,252.00
Data Science	Diploma / 33	Online	700	\$22.57	15,800.00	\$0.00	\$0.00	15,800.00	9	\$9,144.00	\$0.00	\$2,871.00	\$27,815.00	\$4,581.00	\$0.00	\$2,871.00	\$23,252.00
HVAC	Diploma / 36	Morning	942	\$21.26	20,025.00	\$0.00	\$0.00	20,025.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$37,107.00	\$4,581.00	\$5,067.00	\$2,871.00	\$32,544.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	18,450.00	\$0.00	\$0.00	18,450.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$35,532.00	\$4,581.00	\$5,067.00	\$2,871.00	\$30,969.00
Medical Assistant	Diploma / 54	Evening	978	\$18.87	18,450.00	\$0.00	\$0.00	18,450.00	14	\$14,224.00	\$7,882.00	\$4,466.00	\$45,022.00	\$7,126.00	\$7,882.00	\$4,466.00	\$37,924.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	18,450.00	\$0.00	\$0.00	18,450.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$35,532.00	\$4,581.00	\$5,067.00	\$2,871.00	\$30,969.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	18,450.00	\$0.00	\$0.00	18,450.00	13	\$13,208.00	\$7,319.00	\$4,147.00	\$43,124.00	\$6,617.00	\$7,319.00	\$4,147.00	\$36,533.00
Mobile Application Developer	Diploma / 33	Online	700	\$22.57	15,800.00	\$0.00	\$0.00	15,800.00	9	\$9,144.00	\$0.00	\$2,871.00	\$27,815.00	\$4,581.00	\$0.00	\$2,871.00	\$23,252.00
Pharmacy Technician	Diploma / 33	Morning	848	\$21.76	18,450.00	\$0.00	\$0.00	18,450.00	9	\$9,144.00	\$5,067.00	\$2,871.00	\$35,532.00	\$4,581.00	\$5,067.00	\$2,871.00	\$30,969.00
Software Developer	Diploma / 33	Morning	700	\$22.57	15,800.00	\$0.00	\$0.00	15,800.00	9	\$9,144.00	\$0.00	\$2,871.00	\$27,815.00	\$4,581.00	\$0.00	\$2,871.00	\$23,252.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	13,950.00	\$300.00**	\$0.00	14,250.00	7	\$7,112.00	\$3,941.00	\$2,233.00	\$27,536.00	\$3,563.00	\$3,941.00	\$2,233.00	\$23,987.00



		BROWNSVI	LLE CAI	MPUS								cos	T OF ATTENDA	ANCE			
		TUITION I	BY PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (C	HARGED TO ST	'UDENT)							INE	IRECT COSTS	(NOT CHARG	ED TO STUDE	IT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Administrative Assistant	Diploma / 27	Morning	650	\$21.46	\$13,950.00	\$0.00	\$0.00	\$13,950.00	7	\$7,112.00	\$1,904.00	\$2,233.00	\$25,199.00	\$3,563.00	\$1,904.00	\$2,233.00	\$21,650.00
Administrative Assistant	Diploma / 39	Evening	650	\$21.46	\$13,950.00	\$0.00	\$0.00	\$13,950.00	10	\$10,160.00	\$2,720.00	\$3,190.00	\$30,020.00	\$5,090.00	\$2,720.00	\$3,190.00	\$24,950.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$3,264.00	\$3,828.00	\$37,734.00	\$6,108.00	\$3,264.00	\$3,828.00	\$31,650.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$3,264.00	\$3,828.00	\$37,734.00	\$6,108.00	\$3,264.00	\$3,828.00	\$31,650.00
Computer Support Specialist	Diploma / 27	Morning	720	\$19.38	\$13,950.00	\$0.00	\$0.00	\$13,950.00	7	\$7,112.00	\$1,904.00	\$2,233.00	\$25,199.00	\$3,563.00	\$1,904.00	\$2,233.00	\$21,650.00
Cosmetology	Diploma / 40	Day	1000	\$18.70	\$18,700.00	\$100.00	\$0.00	\$18,800.00	10	\$10,160.00	\$2,720.00	\$3,190.00	\$34,870.00	\$5,090.00	\$2,720.00	\$3,190.00	\$29,800.00
Electrical Technician	Diploma / 27	Morning	720	\$19.38	\$13,950.00	\$260.00**	\$0.00	\$14,210.00	7	\$7,112.00	\$1,904.00	\$2,233.00	\$25,459.00	\$3,563.00	\$1,904.00	\$2,233.00	\$21,910.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Medical Assistant	Diploma / 54	Evening	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	14	\$14,224.00	\$3,808.00	\$4,466.00	\$40,948.00	\$7,126.00	\$3,808.00	\$4,466.00	\$33,850.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	13	\$13,208.00	\$3,536.00	\$4,147.00	\$39,341.00	\$6,617.00	\$3,536.00	\$4,147.00	\$32,750.00
Pharmacy Technician	Diploma / 33	Morning	848	\$21.76	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$2,032.00	\$544.00	\$638.00	\$4,414.00	\$1,018.00	\$544.00	\$638.00	\$3,400.00



	CORPUS CHRISTI CAMPUS TUITION BY PROGRAM											cos	T OF ATTENDA	ANCE			
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH F	ARENT	
		DIRECT COSTS (CI	IARGED TO ST	TUDENT)							IND	IRECT COSTS	(NOT CHARGE	ED TO STUDEN	NT)		
Programs	Credential / Est. Weeks Shift Clock/Contact per Tuition Other Fees Registration Total Cos (based on shift) Hours Clock/Contact Hour								Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$4,887.00	\$2,871.00	\$35,352.00	\$4,581.00	\$4,887.00	\$2,871.00	\$30,789.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$6,516.00	\$3,828.00	\$40,986.00	\$6,108.00	\$6,516.00	\$3,828.00	\$34,902.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$4,887.00	\$2,871.00	\$35,352.00	\$4,581.00	\$4,887.00	\$2,871.00	\$30,789.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$6,516.00	\$3,828.00	\$40,986.00	\$6,108.00	\$6,516.00	\$3,828.00	\$34,902.00
Cosmetology	Diploma / 40	Day	1000	\$18.70	\$18,700.00	\$100.00	\$0.00	\$18,800.00	10	\$10,160.00	\$5,430.00	\$3,190.00	\$37,580.00	\$5,090.00	\$5,430.00	\$3,190.00	\$32,510.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$4,887.00	\$2,871.00	\$35,352.00	\$4,581.00	\$4,887.00	\$2,871.00	\$30,789.00
Medical Assistant	Diploma / 54	Evening	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	14	\$14,224.00	\$7,602.00	\$4,466.00	\$44,742.00	\$7,126.00	\$7,602.00	\$4,466.00	\$37,644.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$4,887.00	\$2,871.00	\$35,352.00	\$4,581.00	\$4,887.00	\$2,871.00	\$30,789.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	13	\$13,208.00	\$7,059.00	\$4,147.00	\$42,864.00	\$6,617.00	\$7,059.00	\$4,147.00	\$36,273.00
Pharmacy Technician	Diploma / 33	Morning	848	\$21.76	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$4,887.00	\$2,871.00	\$35,352.00	\$4,581.00	\$4,887.00	\$2,871.00	\$30,789.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	\$13,950.00	\$300.00**	\$0.00	\$14,250.00	7	\$7,112.00	\$3,801.00	\$2,233.00	\$27,396.00	\$3,563.00	\$3,801.00	\$2,233.00	\$23,847.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$2,032.00	\$1,086.00	\$638.00	\$4,956.00	\$1,018.00	\$1,086.00	\$638.00	\$3,942.00



	HARLINGEN CAMPUS TUITION BY PROGRAM											cos	T OF ATTENDA	NCE			
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH F	PARENT	
		DIRECT COSTS (CH	IARGED TO ST	TUDENT)							IND	IRECT COSTS	(NOT CHARGE	D TO STUDEN	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$3,264.00	\$3,828.00	\$37,734.00	\$6,108.00	\$3,264.00	\$3,828.00	\$31,650.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$3,264.00	\$3,828.00	\$37,734.00	\$6,108.00	\$3,264.00	\$3,828.00	\$31,650.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	\$0.00	\$0.00	\$20,025.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$34,488.00	\$4,581.00	\$2,448.00	\$2,871.00	\$29,925.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Medical Assistant	Diploma / 54	Evening	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	14	\$14,224.00	\$3,808.00	\$4,466.00	\$40,948.00	\$7,126.00	\$3,808.00	\$4,466.00	\$33,850.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$2,448.00	\$2,871.00	\$32,913.00	\$4,581.00	\$2,448.00	\$2,871.00	\$28,350.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	13	\$13,208.00	\$3,536.00	\$4,147.00	\$39,341.00	\$6,617.00	\$3,536.00	\$4,147.00	\$32,750.00
Medical Office Specialist	Diploma / 30	Morning	780	\$21.09	\$16,450.00	\$0.00	\$0.00	\$16,450.00	8	\$8,128.00	\$2,176.00	\$2,552.00	\$29,306.00	\$4,072.00	\$2,176.00	\$2,552.00	\$25,250.00
Medical Office Specialist	Diploma / 45	Evening	780	\$21.09	\$16,450.00	\$0.00	\$0.00	\$16,450.00	12	\$12,192.00	\$3,264.00	\$3,828.00	\$35,734.00	\$6,108.00	\$3,264.00	\$3,828.00	\$29,650.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	\$13,950.00	\$300.00**	\$0.00	\$13,950.00	7	\$7,112.00	\$1,904.00	\$2,233.00	\$25,499.00	\$3,563.00	\$1,904.00	\$2,233.00	\$21,950.00



		PHARR					cos	T OF ATTENDA	NCE								
		TUITION E	BY PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CI	HARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARGE	D TO STUDEN	IT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	0.00	0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Administrative Assistant	Diploma / 27	Morning	650	\$21.46	\$13,950.00	0.00	0.00	\$13,950.00	7	\$7,112.00	\$2,037.00	\$2,233.00	\$25,332.00	\$3,563.00	\$2,037.00	\$2,233.00	\$21,783.00
Administrative Assistant	Diploma / 39	Evening	650	\$21.46	\$13,950.00	0.00	0.00	\$13,950.00	10	\$10,160.00	\$2,910.00	\$3,190.00	\$30,210.00	\$5,090.00	\$2,910.00	\$3,190.00	\$25,140.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	\$18,450.00	0.00	0.00	\$18,450.00	9	\$9,144.00	\$2,619.00	\$2,871.00	\$33,084.00	\$4,581.00	\$2,619.00	\$2,871.00	\$28,521.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	\$18,450.00	0.00	0.00	\$18,450.00	12	\$12,192.00	\$3,492.00	\$3,828.00	\$37,962.00	\$6,108.00	\$3,492.00	\$3,828.00	\$31,878.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	0.00	0.00	\$18,450.00	9	\$9,144.00	\$2,619.00	\$2,871.00	\$33,084.00	\$4,581.00	\$2,619.00	\$2,871.00	\$28,521.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	0.00	0.00	\$18,450.00	12	\$12,192.00	\$3,492.00	\$3,828.00	\$37,962.00	\$6,108.00	\$3,492.00	\$3,828.00	\$31,878.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	\$5,230.00	\$200.00*	70.00	\$5,500.00	4	\$4,064.00	\$1,164.00	\$1,276.00	\$12,004.00	\$2,036.00	\$1,164.00	\$1,276.00	\$9,976.00
Computer Support Specialist	Diploma / 27	Morning	720	\$19.38	\$13,950.00	0.00	0.00	\$13,950.00	7	\$7,112.00	\$2,037.00	\$2,233.00	\$25,332.00	\$3,563.00	\$2,037.00	\$2,233.00	\$21,783.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	\$18,450.00	0.00	0.00	\$18,450.00	9	\$9,144.00	\$2,619.00	\$2,871.00	\$33,084.00	\$4,581.00	\$2,619.00	\$2,871.00	\$28,521.00
Medical Assistant	Diploma / 54	Evening	978	\$18.87	\$18,450.00	0.00	0.00	\$18,450.00	14	\$14,224.00	\$4,074.00	\$4,466.00	\$41,214.00	\$7,126.00	\$4,074.00	\$4,466.00	\$34,116.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	0.00	0.00	\$18,450.00	9	\$9,144.00	\$2,619.00	\$2,871.00	\$33,084.00	\$4,581.00	\$2,619.00	\$2,871.00	\$28,521.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	0.00	0.00	\$18,450.00	13	\$13,208.00	\$3,783.00	\$4,147.00	\$39,588.00	\$6,617.00	\$3,783.00	\$4,147.00	\$32,997.00
Medical Office Specialist	Diploma / 30	Morning	780	\$21.09	\$16,450.00	0.00	0.00	\$16,450.00	8	\$8,128.00	\$2,328.00	\$2,552.00	\$29,458.00	\$4,072.00	\$2,328.00	\$2,552.00	\$25,402.00
Medical Office Specialist	Diploma / 45	Evening	780	\$21.09	\$16,450.00	0.00	0.00	\$16,450.00	12	\$12,192.00	\$3,492.00	\$3,828.00	\$35,962.00	\$6,108.00	\$3,492.00	\$3,828.00	\$29,878.00
Pharmacy Technician	Diploma / 33	Morning	848	\$21.76	\$18,450.00	0.00	0.00	\$18,450.00	9	\$9,144.00	\$2,619.00	\$2,871.00	\$33,084.00	\$4,581.00	\$2,619.00	\$2,871.00	\$28,521.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	\$13,950.00	\$300.00**	0.00	\$14,250.00	7	\$7,112.00	\$2,037.00	\$2,233.00	\$25,632.00	\$3,563.00	\$2,037.00	\$2,233.00	\$22,083.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	0.00	0.00	\$1,200.00	2	\$2,032.00	\$582.00	\$638.00	\$4,452.00	\$1,018.00	\$582.00	\$638.00	\$3,438.00



	S	AN ANTONIO					cos	T OF ATTENDA	NCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH F	ARENT	
		DIRECT COSTS (CH	IARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARGE	D TO STUDEN	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,141.00	\$2,871.00	\$33,606.00	\$4,581.00	\$3,141.00	\$2,871.00	\$29,043.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.89	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$4,188.00	\$3,828.00	\$38,658.00	\$6,108.00	\$4,188.00	\$3,828.00	\$32,574.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,141.00	\$2,871.00	\$33,606.00	\$4,581.00	\$3,141.00	\$2,871.00	\$29,043.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$4,188.00	\$3,828.00	\$38,658.00	\$6,108.00	\$4,188.00	\$3,828.00	\$32,574.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	\$5,230.00	\$200.00*	\$70.00	\$5,500.00	4	\$4,064.00	\$1,396.00	\$1,276.00	\$12,236.00	\$2,036.00	\$1,396.00	\$1,276.00	\$10,208.00
Computer Support Specialist	Diploma / 27	Morning	720	\$19.38	\$13,950.00	\$0.00	\$0.00	\$13,950.00	7	\$7,112.00	\$2,443.00	\$2,233.00	\$25,738.00	\$3,563.00	\$2,443.00	\$2,233.00	\$22,189.00
Electrical Technician	Diploma / 27	Morning	720	\$19.38	\$13,950.00	\$260.00**	\$0.00	\$14,210.00	7	\$7,112.00	\$2,443.00	\$2,233.00	\$25,998.00	\$3,563.00	\$2,443.00	\$2,233.00	\$22,449.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	\$0.00	\$0.00	\$20,025.00	9	\$9,144.00	\$3,141.00	\$2,871.00	\$35,181.00	\$4,581.00	\$3,141.00	\$2,871.00	\$30,618.00
Medical Assistant	Diploma / 36	Morning	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,141.00	\$2,871.00	\$33,606.00	\$4,581.00	\$3,141.00	\$2,871.00	\$29,043.00
Medical Assistant	Diploma / 54	Morning	978	\$18.87	\$18,450.00	\$0.00	\$0.00	\$18,450.00	14	\$14,224.00	\$4,886.00	\$4,466.00	\$42,026.00	\$7,126.00	\$4,886.00	\$4,466.00	\$34,928.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,141.00	\$2,871.00	\$33,606.00	\$4,581.00	\$3,141.00	\$2,871.00	\$29,043.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	13	\$13,208.00	\$4,537.00	\$4,147.00	\$40,342.00	\$6,617.00	\$4,537.00	\$4,147.00	\$33,751.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	\$13,950.00	\$300.00**	\$0.00	\$14,250.00	7	\$7,112.00	\$2,443.00	\$2,233.00	\$26,038.00	\$3,563.00	\$2,443.00	\$2,233.00	\$22,489.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$2,032.00	\$698.00	\$638.00	\$4,568.00	\$1,018.00	\$698.00	\$638.00	\$3,554.00



	S	AN ANTONIO					cos	T OF ATTENDA	NCE								
		TUITION E	BY PROGRAM								OFF CAMPUS				WITH F	PARENT	
		DIRECT COSTS (CI	HARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARGE	D TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Administrative Assistant	Diploma / 27	Morning	650	\$20.69	\$13,450.00	\$0.00	\$0.00	\$13,450.00	7	\$7,112.00	\$2,170.00	\$2,233.00	\$24,965.00	\$3,563.00	\$2,170.00	\$2,233.00	\$21,416.00
Administrative Assistant	Diploma / 39	Evening	650	\$20.69	\$13,450.00	\$0.00	\$0.00	\$13,450.00	10	\$10,160.00	\$3,100.00	\$3,190.00	\$29,900.00	\$5,090.00	\$3,100.00	\$3,190.00	\$24,830.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$22.21	\$17,900.00	\$0.00	\$0.00	\$17,900.00	9	\$9,144.00	\$2,790.00	\$2,871.00	\$32,705.00	\$4,581.00	\$2,790.00	\$2,871.00	\$28,142.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$22.21	\$17,900.00	\$0.00	\$0.00	\$17,900.00	12	\$12,192.00	\$3,720.00	\$3,828.00	\$37,640.00	\$6,108.00	\$3,720.00	\$3,828.00	\$31,556.00
Business Administration	Diploma / 33	Morning	800	\$22.38	\$17,900.00	\$0.00	\$0.00	\$17,900.00	9	\$9,144.00	\$2,790.00	\$2,871.00	\$32,705.00	\$4,581.00	\$2,790.00	\$2,871.00	\$28,142.00
Business Administration	Diploma / 48	Evening	800	\$22.38	\$17,900.00	\$0.00	\$0.00	\$17,900.00	12	\$12,192.00	\$3,720.00	\$3,828.00	\$37,640.00	\$6,108.00	\$3,720.00	\$3,828.00	\$31,556.00
Cosmetology	Diploma/ 40	Day	1000	\$18.70	\$18,700.00	\$100.00	\$0.00	\$18,800.00	10	\$10,160.00	\$3,100.00	\$3,190.00	\$35,250.00	\$5,090.00	\$3,100.00	\$3,190.00	\$30,180.00
Medical Assistant	Diploma / 36	Morning	978	\$18.30	\$17,900.00	\$0.00	\$0.00	\$17,900.00	9	\$9,144.00	\$2,790.00	\$2,871.00	\$32,705.00	\$4,581.00	\$2,790.00	\$2,871.00	\$28,142.00
Medical Assistant	Diploma / 54	Evening	978	\$18.30	\$17,900.00	\$0.00	\$0.00	\$17,900.00	14	\$14,224.00	\$4,340.00	\$4,466.00	\$40,930.00	\$7,126.00	\$4,340.00	\$4,466.00	\$33,832.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.33	\$17,900.00	\$0.00	\$0.00	\$17,900.00	9	\$9,144.00	\$2,790.00	\$2,871.00	\$32,705.00	\$4,581.00	\$2,790.00	\$2,871.00	\$28,142.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.33	\$17,900.00	\$0.00	\$0.00	\$17,900.00	13	\$13,208.00	\$4,030.00	\$4,147.00	\$39,285.00	\$6,617.00	\$4,030.00	\$4,147.00	\$32,694.00
Medical Office Specialist	Diploma / 30	Morning	780	\$20.38	\$15,900.00	\$0.00	\$0.00	\$15,900.00	8	\$8,128.00	\$2,480.00	\$2,552.00	\$29,060.00	\$4,072.00	\$2,480.00	\$2,552.00	\$25,004.00
Medical Office Specialist	Diploma / 45	Evening	780	\$20.38	\$15,900.00	\$0.00	\$0.00	\$15,900.00	12	\$12,192.00	\$3,720.00	\$3,828.00	\$35,640.00	\$6,108.00	\$3,720.00	\$3,828.00	\$29,556.00
Pharmacy Technician	Diploma / 33	Morning	848	\$21.11	\$17,900.00	\$0.00	\$0.00	\$17,900.00	9	\$9,144.00	\$2,790.00	\$2,871.00	\$32,705.00	\$4,581.00	\$2,790.00	\$2,871.00	\$28,142.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$2,032.00	\$620.00	\$638.00	\$4,490.00	\$1,018.00	\$620.00	\$638.00	\$3,476.00



		WACO	CAMPU	S								COS	T OF ATTENDA	ANCE			
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH F	ARENT	
		DIRECT COSTS (CF	IARGED TO ST	'UDENT)							IND	IRECT COSTS	(NOT CHARGE	ED TO STUDEN	IT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$12,192.00	\$0.00	\$3,828.00	\$38,120.00	\$6,108.00	\$0.00	\$3,828.00	\$32,036.00
Business Administration	Diploma / 33	Morning	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,492.00	\$2,871.00	\$33,957.00	\$4,581.00	\$3,492.00	\$2,871.00	\$29,394.00
Business Administration	Diploma / 48	Evening	800	\$23.06	\$18,450.00	\$0.00	\$0.00	\$18,450.00	12	\$12,192.00	\$4,656.00	\$3,828.00	\$39,126.00	\$6,108.00	\$4,656.00	\$3,828.00	\$33,042.00
Electrical Technician	Diploma / 27	Morning	720	\$19.38	\$13,950.00	\$260.00**	\$0.00	\$14,210.00	7	\$7,112.00	\$2,716.00	\$2,233.00	\$26,271.00	\$3,563.00	\$2,716.00	\$2,233.00	\$22,722.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	\$0.00	\$0.00	\$20,025.00	9	\$9,144.00	\$3,492.00	\$2,871.00	\$35,532.00	\$4,581.00	\$3,492.00	\$2,871.00	\$30,969.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	9	\$9,144.00	\$3,492.00	\$2,871.00	\$33,957.00	\$4,581.00	\$3,492.00	\$2,871.00	\$29,394.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$19.92	\$18,450.00	\$0.00	\$0.00	\$18,450.00	13	\$13,208.00	\$5,044.00	\$4,147.00	\$40,849.00	\$6,617.00	\$5,044.00	\$4,147.00	\$34,258.00
Medical Office Specialist	Diploma / 30	Morning	780	\$21.09	\$16,450.00	\$0.00	\$0.00	\$16,450.00	8	\$8,128.00	\$3,104.00	\$2,552.00	\$30,234.00	\$4,072.00	\$3,104.00	\$2,552.00	\$26,178.00
Medical Office Specialist	Diploma / 45	Evening	780	\$21.09	\$16,450.00	\$0.00	\$0.00	\$16,450.00	12	\$12,192.00	\$4,656.00	\$3,828.00	\$37,126.00	\$6,108.00	\$4,656.00	\$3,828.00	\$31,042.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$19.93	\$13,950.00	\$300.00**	\$0.00	\$14,250.00	7	\$7,112.00	\$2,716.00	\$2,233.00	\$26,311.00	\$3,563.00	\$2,716.00	\$2,233.00	\$22,762.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	1,200.00	\$0.00	\$0.00	1,200.00	2	\$2,032.00	\$776.00	\$638.00	\$4,646.00	\$1,018.00	\$776.00	\$638.00	\$3,632.00